
P
řík
la
d
y
k
e
cv
ičen
í

P
řík
la
d
1
:
U
rčete

p
o
čet
rů
zn
ý
ch
čá
stečn

ý
ch
u
sp
o
řá
d
á
n
í
n
a
čty
řech

p
rv
cích
.

P
řík
la
d
2
:
N
a
lezn
ěte
n
ejd
elší
řetězce

a
a
n
tiřetězce

n
a
u
sp
o
řá
d
á
n
ích
:

({
1
,...,n

}
,|)
a
(P
({
1
,...,n

}
),⊆
).

P
řík
la
d
3
:
U
k
a
žte
že
k
a
žd
é
k
o
n
ečn
é
čá
stečn

é
u
sp
o
řá
d
á
n
íje
izo
m
o
rfn
íu
sp
o
řá
d
á
n
íin
k
lu
zí
n
a
n
ěja
k
ém

sy
stém

u
m
n
o
žin
.

P
řík
la
d
4
:
N
ech
ť
f
:
X

→
Y
a
g
:
Y

→
X
jso
u
fu
n
k
ce
ta
k
ov
é,
že
p
ro
k
a
žd
é
x
∈
X
p
la
tí
g
◦
f
(x
)
=

x

a
p
ro
k
a
žd
é
y
∈
Y
p
la
tí,
že

f
◦
g
(y
)
=

y
.
D
o
k
a
žte,
že

f
i
g
jso
u
b
ijek
ce
(ted
y
p
ro
sté
a
n
a
).

P
řík
la
d
5
:
U
v
a
žm
e
rela
ci
“
x
je
d
ělitelem

čísla
y
”
n
a
m
n
o
žin
ě
{
1
,...,N

}
.

a
)
D
o
k
a
žte,
že
ta
to
rela
ce
je
(n
eo
stré)

u
sp
o
řá
d
á
n
í.

b
)
M
á
to
to
u
sp
o
řá
d
á
n
í
n
ěja
k
ý
n
ejv
ětší
a
n
ejm
en
ší
p
rv
ek
?

c)
M
á
to
to
u
sp
o
řá
d
á
n
í
n
ěja
k
ý
m
in
im
á
ln
í
a
m
a
x
im
á
ln
í
p
rv
ek
?

P
řík
la
d
6
:
B
u
ď
X
k
o
n
ečn
á
m
n
o
žin
a
a
R
rela
ce
n
a
X
a
n
ti-sy
m
etrick

á
rela
ce.
U
k
a
žte,
že
k
a
žd
á
rela
ce

R̄
⊂

R
je
ta
k
é
a
n
ti-sy
m
etrick

á
.

P
řík
la
d
7
:
D
o
k
a
žte
n
á
sled
u
jící
o
d
h
a
d
fa
k
to
riá
lu
:

n
n
/
2
≤

n
!
≤

(

n
+
1

2

)

n

P
řík
la
d
8
:
J
a
k
o
u
n
ejv
y
šší
m
o
cn
in
o
u
5
je
d
ěliteln

é
5
0
!
?
U
rčete

o
b
ecn
ý
v
zo
rec
p
ro
p
rv
o
číslo

p
a

fa
k
to
riá
l
čísla

n
.

P
řík
la
d
9
:
U
k
a
žte,
že
(k
!)
n
d
ělí
(k
n
)!.

P
řík
la
d
1
0
:
K
o
lik
ex
istu
je
p
erm
u
ta
cí
m
n
o
žin
y
{
1
,...,n

}
s
p
ráv
ě
jed
n
ím
cy
k
lem
?

P
řík
la
d
1
1
:
R
o
zm
ísťu
jem
e
k
k
u
liček

d
o
n
p
řik
rá
d
ek
.
D
o
p
lň
te
n
á
sled
u
jící
ta
b
u
lk
u
:

K
u
ličk
y

V
k
a
žd
é
p
řih
rá
d
ce
je

jso
u

n
ejv
ý
še
jed
n
a
lib
ov
o
ln
ě
m
n
o
h
o
a
lesp
o
ň
jed
n
a

R
ů
zn
o
b
a
rev
n
é

S
tejn
o
b
a
rev
n
é

P
řík
la
d
1
2
:
K
o
lik
ex
istu
je
rů
zn
ý
ch
ro
zd
ělen
í
p
rav
id
eln
éh
o
n
-ú
h
eln
ík
a
n
a
v
rch
o
lech
1
,...,n

n
a
tro
j-

ú
h
eln
ík
y,
ta
k
že
řezy

v
ed
o
u
p
o
d
él
ú
h
lo
p
říček

,
k
teré
se
v
zá
jem
n
ě
n
ek
říží
a
n
av
íc
k
a
žd
ý
tro
jú
h
eln
ík

m
á
a
lesp
o
ň
jed
n
u
stra
n
u
sp
o
lečn
o
u
s
n
-ú
h
eln
ík
em
?.
(T
a
k
ov
ý
m
ro
zd
ělěn
ím
se
řík
á
tria
n
g
u
la
ce).

N
a
p
ř.
p
ětiú
h
eln
ík
lze
ro
zd
ělit
n
a
tři
tro
jú
h
len
ík
y
(1
,2
,3
),
(1
,3
,5
)
a
(3
,4
,5
).

P
řík
la
d
1
3
:
Z
n
p
řed
m
ětů
v
y
b
írá
m
e
k
.
D
o
p
lň
te
n
á
sled
u
jící
ta
b
u
lk
u
:

n
ezá
leží
n
a
p
o
řa
d
í
zá
leží
n
a
p
o
řa
d
í

s
o
p
a
k
ov
á
n
ím

b
ez
o
p
a
k
ov
á
n
í

P
řík
la
d
1
4
:

a
)
K
o
lik
a
zp
ů
so
b
y
lze
p
o
stav
it
d
o
řa
d
y
5
v
o
d
n
ík
ů
a
7
ča
ro
d
ějn
ic,
že
žá
d
n
í
d
v
a
v
o
d
n
íci
n
esto
jí
v
ed
le

seb
e?

b
)
K
o
lik
je
m
o
žn
o
stí,
k
d
y
b
y
ch
o
m
je
za
stejn

ý
ch
p
o
d
m
ín
ek
m
ěli
stav
ět
d
o
k
ru
h
u
?

c)
A
co
k
d
y
ž
d
o
k
ru
h
u
b
u
d
em
e
stav
ět
o
p
ět
5
v
o
d
n
ík
ů
,
a
le
1
0
ča
ro
d
ejn
ic?

P
řík
la
d
1
5
:
K
o
lik
slov

lze
sestav

it
z
p
ísm
en
slov
a
M
IS
S
IS
S
IP
P
I?


